ASSEMBLY INSTRUCTIONS
Table

ITEM# FT1261-SGD-CNC
UPC # 050276999652

A WARNING:

The maximum weight load capacity is
50Ibs (22.7 kgs). Exceeding capacity may
result in collapse and possible injury.

* Do not use power tools in assembly.

* Do not throw away any packaging material until assembly is complete.

» Assemble product on soft surface so as not to scratch or damage the item.

» Keep all small parts away from children.

» Carefully remove all parts from the box and make sure that nothing is missing.

» Use only the parts and tools provided unless otherwise noted in these assembly instructions.
» We encourage you to reuse or recycle all of the materials used in the packaging.

* Failure to follow assembly instructions may void any applicable warranties.

* To make assembly easier, please do not fully tighten the bolts until you finish assembly.

** We recommend that you save the allen wrench and periodically tighten all bolts.

** Please make sure all bolts and screws are placed in their proper positions and are
tightened securely to ensure your safety.

** CLEANING: Wipe with a soft cloth. NEVER use harsh chemicals or abrasive cleaners
for polishing.

FT1261-SGD-CNC-AI-V1



HARDWARE:

(Dx 12pcs (2= 3pcs ®)x 1pc

5x16mm bolt 5x12mm bolt allen wrench

o)y )| m =)

PARTS LIST:

@ Table top 1 pc
(® Middle metal ring 2 pcs
@® Bottom metal ring 1 pc
® Metal leg 3 pcs

(=);

DO NOT RETURN THIS ITEM TO THE STORE OR CONTACT THE RETAILER.
Please contact our dedicated customer service team at 1-800-737-5267 or email customerservice@cheyenneproducts.com to
request parts or assistance with your merchandise. Office hours: Monday - Friday from 8:00 AM - 5:00 PM - (CST)



ASSEMBLY INSTRUCTIONS

1 = (2x3pcs

5x12mm bolt
I f : D)),
. s -0
Allen V\_/rench :ﬁ :
(provided) 1
D
D e

(1) x6pcs

5x16mm bolt

o) LT

Allen wrench
(provided)

DO NOT RETURN THIS ITEM TO THE STORE OR CONTACT THE RETAILER.
Please contact our dedicated customer service team at 1-800-737-5267 or email customerservice@cheyenneproducts.com to
request parts or assistance with your merchandise. Office hours: Monday - Friday from 8:00 AM - 5:00 PM - (CST)



ASSEMBLY INSTRUCTIONS

3

(D x6pcs

5x16mm bolt

i

Allen wrench
(provided)

T WL W

Assembly Complete.

DO NOT RETURN THIS ITEM TO THE STORE OR CONTACT THE RETAILER.
Please contact our dedicated customer service team at 1-800-737-5267 or email customerservice@cheyenneproducts.com to
request parts or assistance with your merchandise. Office hours: Monday - Friday from 8:00 AM - 5:00 PM - (CST)



IMPORTANT WARRANTY INFORMATION
* SAVE THIS INFORMATION FOR FUTURE REFERENCE *

Our products are produced under the strict quality control standards and
meet or exceed all applicable industry standards and consumer regulations.

Your merchandise is warranted for ninety (90) days from the date of
purchase against manufacturing defects.

In the unlikely event you should have a problem with your merchandise,

or you are missing parts, it is not necessary to return the unit to the store
where it was purchased. Please contact customer service at 1-800-737-5267
or customerservice@cheyenneproducts.com to request parts or assistance
with assembling your merchandise. Our offices are open Monday thru Friday
between 8:00am and 5:00pm (CST) - excluding major holidays. Our customer
service reps are committed to resolving your problems as quickly as possible.

This warranty gives you specific legal rights and you may also have other
rights which vary from state to state.

For future reference, please record the model number and UPC barcode
number from the box onto this form in the space below:

MODEL #

UPC BARCODE#

Printed in China



INSTRUCCIONES PARA ARMAR

MODELO# FS1220-SGD

UPC CODIGO DE BARRAS#
050276999652

A ADVERTENCIA:

La capacidad maxima de carga es

de 50 libras (22.7 kgs). Si se excede
la capacidad, el producto se puede
derrumbar y causar posibles lesiones.

« No utilice herramientas eléctricas para el montaje.

» No se deshaga de cualquer material de embalaje hasta que el montaje estécompleto

« Ensamble el producto sobre una superficie suave por lo que el articulo no esta rayado o dafiado.
« Mantenga todas las piezas pequenas lejos de los nifios.

« Retire con cuidado todas las piezas de la caja y asegurese de que no le falta nada.

» Use unicamente las piezas y las herramientas suministradas a menos que se indique lo contrario
en estas instrucciones de ensamblaje.

« Le animamos a reutilizar o reciclar todos los materiales utilizados en el embalaje.
« Si no se siguen las instrucciones de ensamblaje, se podrian anular las garantias aplicables.
« Para facilitar el montaje, por favor no apriete completamente los pernos hasta que termine el montaje.

** RECOMENDAMOS QUE GUARDE LA LLAVE ALLEN PARA APRETAR PERIODICAMENTE TODOS
LOS TORNILLOS. ASEGURESE DE QUE LOS TORNILLOS ESTEN EN SU LUGAR Y BIEN APRETADOS.

** ASEGURESE DE QUE TODOS LOS PERNOS Y TORNILLOS SE COLOCAN EN SUS POSICIONES
CORRECTAS Y ESTEN BIEN APRETADOS PARA ASEGURAR SU SEGURIDAD.

** PARA LIMPIAR: USE UN PANO SUAVE, NO USE QUIMICOS O SUBSTANCIAS ABRASIVAS.

FT1261-SGD-CNC-AI-V1




FERRETERIA:

(Dx 12pcs (2= 3pcs ®)x 1pc

perno de 5x16mm perno de 5x12mm llave allen

o)y =)

LISTA DE PARTES:

O Mesa 1 pc
(® Anillo metalico central 2 pcs

@® Anillo metalico inferior 1 pc
(® Pata metalica 3 pcs

NO REGRESE EL ARTICULO A LA TIENDA O CONTACTE AL VENDEDOR. Péngase en contacto con nuestro dedicado servicio al cliente
al 1-800-737-5267 o envienos un correo electrénico a customerservice@cheyenneproducts.com requiriendo piezas de reemplazo o
ayuda al armar su producto. Nuestras oficinas estan abiertas de Lunes a Viernes de las 8:00am a 5:00pm (CST).



INSTRUCCIONES PARA ARMAR

1 == (@x3pcs

perno de 5x12mm

Wi J o)

llave Allen /ﬁ
(suministrado)

(Dx6pcs

perno de 5x16mm

o) LT

)
4

llave Allen
(suministrado)

NO REGRESE EL ARTICULO A LA TIENDA O CONTACTE AL VENDEDOR. Péngase en contacto con nuestro dedicado servicio al cliente
al 1-800-737-5267 o envienos un correo electrénico a customerservice@cheyenneproducts.com requiriendo piezas de reemplazo o
ayuda al armar su producto. Nuestras oficinas estan abiertas de Lunes a Viernes de las 8:00am a 5:00pm (CST).



INSTRUCCIONES PARA ARMAR

3

(D x6pcs

perno de 5x16mm

o) LT

llave Allen
(suministrado)

(NN

completamente montado

i~y

S

/

|

-";/,/;\‘\,‘

N\

Wy

T A /]
I | ] ([

NO REGRESE EL ARTICULO A LA TIENDA O CONTACTE AL VENDEDOR. Péngase en contacto con nuestro dedicado servicio al cliente
al 1-800-737-5267 o envienos un correo electrénico a customerservice@cheyenneproducts.com requiriendo piezas de reemplazo o
ayuda al armar su producto. Nuestras oficinas estan abiertas de Lunes a Viernes de las 8:00am a 5:00pm (CST). 3



INFORMACION IMPORTANTE DE GARANTIA

* GUARDE ESTA INFORMACION PARA FUTURA REFERENCIA *

Nuestros productos son fabricados con los mdas estrictos contfroles y normas
de calidad y cumplen o exceden todos los requisitos de rigor de la industria,
ademas de cumplir con todas medidas de proteccion al consumidor.

Su mercancia estd garantizada por 90 dias desde la fecha de compra
confra defectos en su fabricacion.

En caso improbable de que usted tuviera algun problema con su producto,

o le faltara alguna, no es pieza necesario el regresar la unidad a la tienda
donde la compro. Por favor lldmenos al 1-800-737-5267 o envienos un correo
electronico a customerservice@cheyenneproducts.com requiriendo piezas de
reemplazo o ayuda al armar su producto. Nuestras oficinas estan abiertas
de Lunes a Viernes de las 8:00am a 5:00pm (CST) - excluyendo dias feriados.
Nuestros representantes estdn comprometidos a resolver su problema tan
pronto come sea posible.

Esta garantia le otorga derechos legales especificos y usted tfambién puede
tener ofros derechos que varian de un Estado a ofro.

Para futura referencia por favor anote el nUmero de modelo y el nUmero de
la barra de codigos UPC encontrados sobre la caja de cartén, en los espacios
proporcionados esta forma:

MODELO #

UPC CODIGO DE BARRAS#

Impreso en China



